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M BEAMEEX 2
HH: $NSAAL(ZEASSA)
&t JI=3Hl (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 AtSR22/Hl 12,796 13,680 A 884
Oolger=gtl] 4,536
ORAM2E SHHA 4,536,000& * 14 4,536
Oolegx¢4] 4,480
OZA=H 40,000 121 = 112 4,480
Ol=&l] 3,780
ORAM2E SHAH 3,780,000& » 14 3,780
02 2323l 39,203 41,471 N2,268
Ool22e3 ¢ WAl 34,703
oNJIIR= 1,530,000& * 12& 18,360
OgBtNae= 22,5004 * 404 ~ 123 1,080
Qo= 31,5004 * 12& 378
ozt ate] FIIFEAE
250,000& * 13 250
O&IItNE HIIFAZ 500,000& * 13 500
OAYEHIIBAZ 1,000,000& * 12 1,000
OEAMEEHH| 170,000& = 123 2,040
OAOtMEE 3| 58,000& * 13/ 58
O8AE2 HMel =2 10,000& = 12& 120
oLosXga M Y AMt-ER3
360,000& = 123 4,320
OXZ=2¥ 293 JtAH|
27,0008 78 * 113 2,079
OLel=X g2 ety 135,000& = 11CH 1,485
O B2 63,0003 * 3044 189
OEAMNALEE 225,000& * 23| 450
Ox=ZAME 54,000& * 13 54
OSgdadEA B9
350,000& * 30 A * 23] 2,100
oRUsE ¥&s= 20,000& * 12& 240
O[AM&EBI=XIY] 4,500
O&JIIY JIAE A&EHI S
225,000& * 88 * 23l 3,600
OAMNRA SR E= 900,000& * 14 900
202 044l 3,402 3,780 A378
01 =Wl 3,402 3,780 N378
O[=Uoibl] 3,402
ORA2E SHH A 3,402,000& * 14 3,402
405 AHeHESHI 3,870 2,000 1,870
01 ML ESHSHI 3,870 2,000 1,870
OoZeE C2dol = 720,000& * 1CH 720
O= A1 Ediol 2 900,000& * 14 900
oAl & 7 2,250,000& » 14 2,250




M BEAMEEX 2
HH: HH2AFY(S
chel: Jl2&dl M)
N EH - S2A(3H) - MRAE - BES AboH &lEE St
(S N M) ° _I_ [= Bl e (] 04”:"% o
2HEY JI=3H 8,100 9,020 A920
201 LEr2dd 5,737 6,395 A658
01 AtE2c| 5,737 6,395 A 658
olger=8 3,175
O2A 3,175,000& » 14 3,175
Ool=gt 2,562
ORN2Z 2,562,000& * 14 2,562
202 O4Hl 2,363 2,625 N 262
01 WY 2,363 2,625 A 262
FA2E B 2,363,000& » 14 2,363




